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From the day the Beis Hamikdosh, etc. — 9912 N2 3w AvR

OVERVIEW

The Xn>72 of X1 ' states; ‘from the day the p"»72 was destroyed, even though
the 177710 ceased (to function), the punishment of the mn '7 did not cease’.
moon discusses the time frame when the 7710 ceased to mete out capital
punishment.

nvon asks:
= YTPNN N1 29NY ONP NIY 71N VP RY ININ 99NN ON)

And if you will say; why did not the Xn>72 state that forty years before the

»''%792 was destroyed the punishment of mn°n '7 did not cease, even though the 17710 did

not mete out capital punishment. Mo01n explains himself -
- 'mwa) 9357151 XYY 9915 19930 NNV 13NN ONP NIV 'NY

For the 177710 was exiled, etc. from their place in the n 11 nowH (in the p"n2)
forty years before the destruction of the p''=»792, so that they did not judge
capital offenses already for forty years before the 1271

Mo0IN answers:
- 2mtn navyy 1297030 PAVN 1PN NYY TNNY DMIYaLT 91217 UM

And one can say; that occasionally (during these forty years), the 197710 would

return to the nv1377 now® for a timely need; they could have judged mw»1 *27 on these

occasions -
= 129N ONP NIV /1 2NNIY 1YY XPIDa NY 97,

So therefore the Xns»12 could not have categorically stated that forty years

before the destruction the 717710 ceased dealing with mws1 *1°7, because occasionally they
were MWl °17 77 (even) during the last forty years..

mooin asks:
— (%,81 97 177m0) 1PPTI2 1PN P92 7299 YN 19 ON 9INRN ON)

And if you will say; if indeed the 177710 would return occasionally to the now?
n a7 during the last forty years of the p"ni°2, what does the X9%3 ask in 377 P99
PPTIA -

! X, n2w. Why does the Xn™12 (merely) state that the 177710 ceased [to judge nws1 *17] from the day of the 72717,
when they already ceased being NMwo1 °1°7 17 forty years before the 127.
? Literally, ‘the chamber of the hewn stones’ was immediately adjacent to the 771y, and the 79173 *17730 convened
there.
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- >25INN ¥PIY SNIT )2 1IN 229 DT AWM *3)
Regarding the episode where 1''2%7 interrogated the witnesses to a murder,

asking them about the stems of figs -
= Y DYIYUY) NNM INOT JA 1IN 129 DY PINY DD NN XN 12971303 711 90 7299

And the X3 challenged the veracity of this story; ‘was 1''2%9 in the Pa7710?!
For we learnt in a Xnvsm2 that the entire lifetime of 3''2%% was a hundred and

twenty years; of which -
- %5919 1599190 ANYI 139N BT NIY /1 NOIM 1259 /19 1135 /1) NOVNPINL POY N

Forty years he was involved in business, and he studied for forty years, and he
taught (or was a judge) for his last forty years of his life, and we learnt in

another Xn»93, the 17710 was exiled forty years before the destruction, etc.’

mooIn concludes his question -
= 19379 1PIIN 1PN DINRYIDT 1199 NP NIVP NI NOIYM

But now what is the s'R%%3 question, since occasionally the 197710 would

return and judge mws1 >1>7, perhaps it was on one of these occasions that 1"2™ was P12
%KD ¥pPwa?!

N1B0IN answers:
- 50 NNOYIT NUPNN NIND SPIY 7734 SXIT )2 13NY% 1297 91299 U

And one can say; the episode of 1''259 being /7°1Rn X2 P72 was regarding a

murder case -
- oYYy 129N »H NY AMN897 V) 17 OIVM

And the 117710 would never return to the n°1a now% on account of a capital

murder case -
— DN YYIT 1TNT NN DIVN NIN 1) XY D9PIvT

For the main reason the 117710 went into exile was only because of murder,

since the 1777710 saw that murderers were common -
- 5w a,n 9 DA% DAY NIDNT RND DI 1)9IINTS

As the X3 states in the first P25 of "'y noon.

? The story there was that witnesses testified that someone murdered another under a fig tree. 1"2™ asked the
witnesses (individually, in an attempt to invalidate their testimony) were the fig stems thick or thin, etc..
* It was known that 1"27 lived for some time after the 127m. This means that his forty years of 72°2, began less than
forty years before the 1271, at which point there was no 17710 in the p"»i"2 to judge MWwo1 °1°7; how can it be that
1"'27 was interrogating 0°7v regarding N1wo1 "7
5 The X3 there states: 2°N2T 12 K97 °2°7 %3 21PN DPAN 2931 20N 1K 7702 2920 K9 PAXM 112 *WD17 WAT 173 10'n
D73 DWW TAPA RYTT DIPAT A 72 1708 WK 9277 0 HY nwi. There were too many murder cases which overwhelmed
the 13°7 °n3, however as soon as the 117710 left the p"»7°2 the lower 17 °n2a could not conduct Nws1 °1°7, so all the °n2
117 were exempt from their obligation to judge the 7% 7. w"y.
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mooIn presents an alternate solution:
= YIPNRN 53 39NYN VP 9NDT DIVIN U

And others explain that the reason the Xn>12 states ''%77%2 2397w and not forty
years before the 1277, is -
- 7153 590X NYT P 5Y £59991 1Y 7133 190 193Y 9 Y N 195 BNPT DIUN

Because prior to the 12717 even though the 117710 went into exile (and were not 77
mwa1 °1°7), nevertheless, the priestly garments worn during the 772y would atone

for any premeditated sin in which the sinner was not warned by witnesses -
= (DWW N,T0 97 1>99y) 81’:‘1”:1 v 9992 1999NR7
As NWw 7211y 17 states in 1999Y3 WO PR -

mooIN rejects this explanation:
- mnom yaIx lafntn) 1319 %133 90 hoY 12 PPNV %2 NNT NI PN

And nooIn disagrees, for in the days of muw 32 w»w there were 7729715 5732 and

there was the nins» yasx 17 -
= (0W1 3,19 97 191m0) INNN 23T TAN P92 13999INT1D

As the X9%3 stares in n1YaR 5197 TR P90 -
- 59191 1129905 1930 9NR YIY TN SHINT XY DN NN ININ NVY 3 PYNY 539 919N

nuw 32 w'9 said, ‘I should [not] see the consolation if I did not see, one who
ran after his friend into a ruin, etc. -

— YN IDVIV 1Y DWUN N NY
now 12 ¥"7 did not have the opportunity to budge from there before a snake bit

the murderer -
RAr) 1990 YvVaY '9 Yy N NN 29 25 RN NIND YNNI 92 INNY 7299

% We can assume that 079 would never warn anyone attempting to transgress a (capital) sin, since the 117710 ceased
to mete out (capital) judgements. There was no point in the warning.
7 Therefore the ®n*™2 could not have stated 512 X2 NN '7 17 117710 193w 5"YX 12907 o7p 7w 'R, for indeed
they were 1703, since the 729713 >732 atoned for those liable for mws1 °2>7. It was only after the 1271 when there was no
more 17D 722 to be 1937 that the 1902 RS a7 777,
8 The xm3 there reads: 732 AX DM MIAP A7 T2 > NI DWIDH ANFD 732 WD 79101 7192 MWW 12 *1W 1 MK
421 072 NIN5T DR 19A0% 2°NOT 0T MIOW HY N99IM NN 1921 AN, See there for more details. See ‘Thinking it
over’.
° mow 12 'Ynw was a brother-in-law to 7717 *X1® who also served as a 3"712 during "1 n°2. See X,10 PWITP.
10 mpon yaax 1"7 means as the X n3 states here; that it is meted out by '7 when 7""2 cannot enforce it for whatever
reason.
1 The Xn3 there reads: 17°2 7°°0 N°K7 PINK N¥ 72709 17720 R l@l7ah S| X7 OX 72712 ARIR oW 12 wRw "R
oI %D DY 77N AR VW 2702 0D AT PRY AWIYR 72 DR ANK IR IR W AT 10T 0 YW 17 NI0R) 19757 M AUdLA MM
NAY WO WA RAW TV QWA AT KD 1INKR 10 DR AI0W WORT ININD Y90 Mawnn v1on nen nav o7y, The murderer could
not be punished by 7"2 since there were no two witnesses who (warned him and) saw the actual murder.
Nevertheless the murderer was killed since 17202 X% minon '7 7.
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And the 8% there asked, and is this murderer to be punished by a snake bite,"

but 1'% taught that even though the 1°97710 eased, etc. nevertheless mnn '7 17
continues.” It is evident from that X3 that the 'mn» '7 17 occurred even when there was >722
o°172.

mooin offers another proof that there was 'mn n '7 1°7' even nN°27 112:
- 9919 Hywa XY DIYYWIN (3,0 many IR 1IN

And additionally v°p5 w1 expounded the verse, ‘evil will come forth from those
who are wicked’, etc. -

1199 A1 Hm AT XY MNP SR 0P WTPNN NXAY 1Ita BNM)
And there it is discussing the time when the p''»7°2 stood, for the X7n) states,
‘so it turns out that this one (who killed 71»2) dies, and this one (who killed

awa) is exiled’.'® Therefore this answer is rejected and we need to assume Moo initial
answer that occasionally the 17710 would return (to be mwa1 °1°7 17).

SUMMARY

The 17710 ceased to be Mwa1 °1°7 77 forty years before the 12717 (when they left the
o1 nowY) but would return to it occasionally to be mws1 °2°7 1°7 on an as needed
basis, provided it was not a murder case.

THINKING IT OVER

How can we reconcile the X3 in 727¥ which states that 723712 732 are 190n for
7m,"” and the two nmanx which mpoIN cites (from oW 72 W' and the X3 in M),
which indicate that n°277 ya12 there was mnon '7 p72'*

2 Death by a snake bite is the punishment for one who is liable 79 (as the Xn»a states), however murder is
punishable by 70 for which he will either be N1391% 1011 or 1"y O°Ka O°VO>.
"> The X m there answered that this murderer was liable for another sin which is punishable by 79w, which is a
harsher punishment.
14 2,70 X PX1mw. This is the (famous) text: AMW32 377 IR WHIT DX 13IAW QTR °12 °1W2A 7277 211037 722 "3 Y0 KX 2°ywn
9511 07102 77 AW AW 1 07 NN WY TN AW T IR PIN9Y 10nm 7"apn oM7Y PR 21 02T PR 17 79T 207 TR
T2 AW 3N AN 301 712 200w 77 20m vy, The one who killed 70112 will be killed accidentally by the one who
killed initially a3, and this time there will be witnesses so that he will go to m?3 (for the second killing [xw1]).
15 1t is evident that there was n*177 7ar2 IR 7 7.
'® The concept of M3 and v9p2 ™y was only na7 jara.
' See footnote # 8.
18 See yaxw moon.
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